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A load of ZL = 15 - j 37.5  is connected to a 75 , 36 0  V  , 1 GHz, sinusoidal generator by a 

lossless, coaxial transmission line (u = 2.4  10
8 

m/s, Z0 = 75 ) of length 1 m.  With no 

matching, how much power is delivered to the load?   Match the load to the generator by 

placing a single discrete capacitor in series with the transmission line as close to the load as 

possible.  Sketch the resulting circuit with all relevant values.  How much power is delivered 

to the load after matching? 
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